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Section : General Intelligence and Reasoning

Ql RE v S 1 e Heua ¢ N 5§ TS w5 9ET X, S 9 e (?) # 9w o wer

23 |5 |110
56 (9 121

49 |3 ?

ans XK 1113
X2 111
X3 05
v 77

Question ID : 123568330
l Status : Not Answered

{ Chosen Option : --

Q2 sRwR-mE RrwE SEd v de A i a8 ¥ R o amEw ¥ sw e
HETT-TAE H TT7 HL

Ans  of 1. GCV

X 2. DDP

X 3 FBL

X 4 BJT

Question ID : 123568317
Status : Not Answered
Chosen Option : --

Q.3 Fourworu. = 2en given, out of which three are alike in some manner and one is different. Select the odd word.

Ans X 1. Clarinet
« 2. Xylophone
/< 3. Trumpet
/< 2. Saxophone

Question ID: 123568318
Status : Not Answered
Chosen Option : --



https://myentrance.in/ssc-cgl-combined-graduate-level-tier-1/

Q4 wF §row T e T s B wRE FImE R S 2 B T wee %

T s 9T g ml
# % #
@ $ « 1% A 7
Ans \,1. @
X9
X #
X oa =

Question ID : 12356833%
Status : Answer’ -
Chosen Option: 1

Q> 3@ e &1 oI Y, owH & 8 gy safafed @1 (gEE B gAY 7 R)

Ans

Question ID : 123568336
Status : Answered
Chosen Option: 3




Q6 Rrafafaa guer # voa [ea (?) 1 F97 1S e FE&; F TIF F
62, 66, 74, 90, ?
e X1 116
< 2.106
v 122
X< 4120

Question ID : 123568327

Status : Answerec

Chosen Option: 3

Q.7 ‘Astronomy’ is related to ‘Stars” in the same way as ‘Agronomy’ is related to *
Ans X 1. Emotions

X 2. Mines

< 3. Planets

« 2. Crops

[_ Question ID : 123568319

Status : Answered

l Chosen Option : 4

a8 Arrange the following words in a logica! a.  m. aningful order.
. Quadrillion
. Quintillion
3. Million
4. Octillion
5

—

(5]

. Trillion

Ans X 1. 3-5-1-4-2
X 2. 4-3-5.1-.
v 3 3.5-102-4
X 40254

Question ID: 123568316

Status : Answered

Chosen Option : 3
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L Grafaf@a s & wa-REa (7)  F97 3 I 38R F IIT F
A E.L 200 1)

Ans le
v2M
XN
X420

Question ID : 123568315
Status : Answered
Chosen Option : 2

QL0 ik asi s s o g & WH o M FFem F e ¢ 14 50F &1 @ &

ans X 1§
X211
vs 7
X 49

Question ID : 123568332
Status : Answered

Chosen Option: 1

gk s # Pt Fager 82

ans X116
X228
v 25
X422

Question ID : 123568334
Status : Answered

Chosen Option: 1




Q.12 fadr fafdaa Fe smr &, 'DKQX # 'WPJC' frar smar ¥1 3@ st  'AFKP' & 33 frar smeam?
Ans #2000

v 2. ZUPK

X 3. ZVaL

X 4 ZTOK

Question ID : 123568321
Status : Answered
Chosen Option : 2

Q.13 R=fafae gdeor & Fgfoe = & e G o Reat o1 39w § ages $r sraeaswar 82
12 +81-27x9 +3 =36

Ans 21w 3T -
X2+ 3k x
X3 + 3% x
VRNt -

Question ID : 123568331
Status : Answered

Chosen Option : 4

Q14 Fg ve guor, & 7 APl @ IR @ T AL A IEE - B & T oF F:oImS H

N

Ans

Question ID : 123568337
Status : Answered
Chosen Option : 4




Q.15 3w fawew & == wY, owd 77 @ ™ € & o v & & 7 R W W Aw A, @
el ofe St R &

Ans

| Question ID : 123568338
Status : Answered
l Chosen Option : 4

Q.16 U 7T 37 ¥NW #, 'WAT 37 A F RMA E, R F . A g WA §, Ied 39
afiEfar g, WA TT I W A F 2 W s o A i §, S w A
FAT THE FG &1 T H & 7 FEwr 3@ {AS N F o C Hr GEIT F oA B

W I wa & W R e F I e g e E o aw F Rege @
Ans  of 1400,

X229

N 527

X4 36

Question ID : 123568339
Status : Answered
Chosen Option: 1




A+ B E HTE A B Ol

A-BF 3T g B, AFragay;

AxBaF 3T E A BFrATE;

A+Ba HNTE B, AF T

e, P+RxT-Q+S+Ug ar P& SH AT oy g7
A oy TR

v o FATAT
X 5. grer
X & Fr=m/ATAYAET

Question J: _35u.,324
Stat Ar wered
Choss  Optirn: 4

Q.18 Read the given statements and conclusions carefully. Assuming that the information given in the statements is >~ , evew
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically folle.
from the statements.

Statements:

1. Some machines are kites.
2. No machine is a pigeon.
Conclusions:

1. Some machines are pigeons.
II. All kites are pigeons.

TII. Some kites are not pigeons,

Ans X 1. Only conclusion II follows.
/< 2. Only conclusions I and III fon. -
/< 3. Only conclusions I anc .. ‘ol w.

« 2 Only conclusion JII fol. “ws.

Question ID : 123568325
Status : Not Answered

Chosen Option : --

QL Brafaf® ~ s Tar & wa-fEa (7) $ FE 3 T gEw F7 9aT F:
5, 10, < 3, 122, 170
Ans X1. 77
X265
v': 50
X 2 82

Question ID : 123568326
Status : Not Answered
Chosen Option : --




Q20 Crmfaf@a guer & woa-fEd (7) $ 9% 3 I HEW-THE F 9497 HL
ADG, CGK, EJO, ?, IPW
s XK GMZ
X 2. GNS
X 3. GNZ
v+ GMS

Question ID : 123568323
Status : Answered
Chosen Option : 4

Q.21 U v Yo F WAEF HeITS = AR 3T TCA F T97 H, 02T e (?) $ T8 A7 T B

15 |3 24
21 |6 30
49 |5 2

ans X 1 08
v 88
X3 92
X4 82

( Question ID : 123568329
Status : Not Answered
Chosen Option : --

Q22 33 faweT &1 woa &Y, W ol F1 AE F Fo 0 N S Ty A RU qv g F
et & @ ¥

S : e
e X 1 forsar : EATEA
X 2 EOT : F
X o=ie - b IRT
Vo w R TR JEEE

Question ID : 123568320
Status : Answered
Chosen Option : 4

LEARN WITH THE MOST
PREDICTED QUESTIONS

CLICK HERE -"\:‘)



https://myentrance.in/ssc-cgl-combined-graduate-level-tier-1/

Q23 37 amgpfa & 79w F,  Fa@a g@er J v REa (?) & FoE 37 FHar 2

NN [

Ans
®
@
x AB
35
{
xv ) 6
BA

Question ID : 123568333
Status : Not Answered
Chosen Option : --

Q24 FEmst F IR A Rraw d, Tad ¥ I T T w7 @ A € 3R oF A €W
FEAA HEAT-GIH HT T4 F

= w1l 121

v 215 : 250
X313 : 16¢
X 417 a2

Question ID : 123568328
Status : Answered
Chosen Option : 2




Q.25 fdr fAfRaa g T #, 'PAGE' &' '161495' f3@m er &1 38 &9T F 'PART' &' %8 fomr smean?
ans X 1. 16136220

X 2.16125020

X 316128620

v 416132420

Question ID : 123568322
Status : Answered
Chosen Option : 4

Section : General Awareness

Q.1 The Supreme Court has declared access to the internet a fundamental right under Article
of the Indian Constitution.

Ans  off 1.19
y L
X 321
X 214

Question ID : 123568358
Status : Answered
Chosen Option: 3

Q2 YFA TP AICASTRA DAT, TAPTIOAdy @I 7 W FoWdoAdy 5D
TP THTHIHAG

Ans o 1. TRASD T HH U]
X 2. S RATETE AR
X 3. SRA DY, YT
X 4. TRATGIFIA  Tgoi

Question ID : 123568363
Status : Answered
Chosen Option: 1

Q.3 Which leader gave us * Formula?
Ans X' 1 Tilak

JZ.C.F\ ‘el nlachari

X 3.Mahe. ia Gandhi

X 4.C.R.Das

Question ID : 123568354
Status : Answered
Chosen Option : 4




Q.4 If the inflation in an economy is rising steadily, the Central Bank might

Ans x 1. keep the repo rate unchanged
J 2.increase the repo rate
x 3. decrease the reverse repo rate

x 4. decrease the reporate

Question ID : 123568343
Status : Answered
Chosen Option: 3

Qs qﬂ'ﬁmﬂﬁ?ﬁ%ﬂcﬂ'@lw T Y9 oAd 8 3:?[:::55%5
Ans X 1 usy

X 2.gegeus

X 3. umay

V 2w

Qu tiopr J: 123568346
Status : Answered
‘hose., Option : 4

Q6 TAIENT BIW 777 T TWHA TN ATAITIRE TN TAIT N
Ans X 1 ¥ Ux S3l Ugs

2. 5@an

X 3. HEFTSE 9T

X 233 ¥9 B3

Question ID : 123568350
Status : Answered
Chosen Option: 1

Q7 TATTAARHAT AT T A Y B0 £50T TRAEL
Ans  off 1 TR

X 2.ddR S RHY

X 3. A

X a4 G Ry

Question ID : 123568344
Status : Answered
Chosen Option: 3
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Q8 SONCRRGIATHHE T0 HIY t@iﬁﬁﬁh’\’ YA G T EAT FoRA & YR
Ans o 1 1965667

X 2.1966:67 1

X 3.1964-65T

X 4.1967-6841

Question ID : 123568355
Status : Not Answered
Chosen Option : --

Q.9 Q’Wc::nsﬁcﬁﬁ'\‘lﬂh Taol20 W@T@"ﬂ% HACHB T d Wﬁ'ﬁ:ﬂmﬁ?}_ﬁ i:'%
Ans  of 1o @

X 2.4

X 3. AT

X 45T

Qu. iar 123568361
Status : Answered
“osen Option: 1

Q.10 27 VAR, 2019 F] TUMHCH AN GG o dHol AEHT GOH AT T 97 = A od
YFXAT FIFAEIAUT T TIOUF AN TFAME FITAT 97 « T-oHA

Ans X 1 W HERT
\, 2.9 aigd
X 3. GAER Y
< 4. THH A

Question ID : 123568356
Status : Not Answered
Chosen Option : --

Q11 ANAEHEAC] HEOee T Y
Ans \/ 1. TGRA

X 2.9

X a3z a

Xoami ¢

Question ID : 123568341
Status : Not Answered

Chosen Option : --




Q.12 In the sequence of planets in the Solar system, which planet comes in between Mercury and
Earth?

Ans X' 1 Uranus
X 2. Jupiter
X 3. Mars
W 2.venus

Question ID : 123568351
Status : Answered
Chosen Option : 4

Q.13 The SDG India index is developed by .
Ans x 1. Ministry of Home Affairs

x 2. Ministry of Environmental, Forests and Climate Change

W 3.NITI Aayog

x 4. World Bank

ves.. .. 1D : 123568359
Status : Answered

C sen Option: 2

Q.14 Merchant discount rate refers to .
Ans x 1. the total discount a bank offers to the merchant for promotiri,  line v .nsactions
x 2. only taxes that a digital payment entails

J 3. the rate charged to a merchant for payment proce 1se ces on debit and credit

card transactions

x 4. the total discount a merchant offers on online. ansactons

Question ID : 123568342
Status : Answered
Chosen Option: 1

Q.15 T THIAHd RY YA
Ans o 1. dus7H

X 2.30471

X 3.3055

X afu. ot

Question ID : 123568352
Status : Answered
Chosen Option: 1

LEARN WITH THE MOST
PREDICTED QUESTIONS
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Q.16 Name the Indian wrestler who has been named the Junior Freestyle Wrestler of the year
(2019) by United World Wrestling (UWW).

Ans x 1. Kamareddy

J 2. Deepak Punia

x 3. Amita Bagchi

X 4.B.P.Raju

Question ID : 123568357
Status : Not Answered
Chosen Option : --

Q17 TITTITTTCPATNEAE T IAE e - T T PR T Fo 62
Ans x 1.9

W 2 @&Fa

X 3.9 A

x 4, Y3

‘esuwit |ID: 123568360
Status : Answered

C. sen Option: 2

Q.18 naﬂcmgwohma% T AAOACTISEF T e TATT@I T N UF- CAT
AT B2

Ans X 1 3 YA
X233z
X osqu &

23T

Question ID : 123568340
Status : Not Answered

Chosen Option : --

Q.19 FHTE WX FALE AT o o YT
Ans X 1 v - Ul

o 2 TE g, T e

X 3. A X o

x 47T do P

Question ID : 123568349
Status : Answered

Chosen Option : 3




Q.20 Name the only metal that is antibacterial.
Ans X 1 Sodium

, 2. Copper

x 3, Aluminium

x 4.lron

Question ID : 123568347
Status : Answered
Chosen Option : 2

Q.21 9 ATIATA-AT S YN 3AT3CTE (World Energy Outlook) 2019’ AT @
Ans X' 1.9 OIS

/X 2. T F{UNESCO)

3. s 18 S o

x 4@1[) =l

Qu tiopr J:123568362
Status : Answered
‘hose., Option : 3

Q22 T§ OER U RAATAAMNANMT__ & TANT
Ans X1 migeled

X 2. 3RS

X 3. 3@R

2. oBid

Question ID : 123568353
Status : Answered
Chosen Option : 4

Q.23 Which of the following is a natura™ 1lame retcrdant?
Ans X 1 RNA

x 2. Flowers
W 3.0nA
X a.skin

Question ID : 123568348
Status : Answered
Chosen Option : 4




Q.24 Which of the following is the primary sex organ in females?

Ans X' 1. Fallopian tube

J 2. Ovary
x 3. Vagina
x 4. Uterus

Question ID : 123568345
Status : Answered
Chosen Option: 1

Q25 § VY RMOAT TS AIAGOHT dHATS od G, TG (UN Women) o _ PRIS
TFPAA GHEIWE PO dd TR

Ans x 1.8 U]
2.5
X 3099

X 4.3 44

estuun ID : 123568364
Status : Answered
C: 3sen Option: 2

Section : Quantitative Aptitude

Q.1 30 &=H & Irediht & AHET 88 §, 3R I oMW ar redien Fr Weprer & T A A9 9odiE geea]
87.5 g aram| TRy of g greateRt F 2 FT AT ¥, & 3TuaH weaE . &

ans X 194
v 2 96
X3 92
X290

Question ID : 123568367
Status : Not Answered
Chosen Option : --

Q2 ABIHRCw FTH « & Tl A 20 TR 18RE I TR awa &1 B AR C 77
IRE WA E, I L T TR R 38 O T &1 A FF B FATT A & AT A F 3Fer hae
feer wrter?

v ‘ et
x 2. 12§ o=
X310 e
X152 fa

Ans

Question ID : 123568373
Status : Answered
Chosen Option: 1




Q3 RN 1B HFIVABIRCAFERIaTHNEFAFRE T2, B & e & 5
W C & REH = 7 g e &, A A = e Tw Hew

Ans o 1700
X 2. 3650
X 3. %750
X 4. ¥500

Question ID: 123568371
Status : Not Answered
Chosen Option : --

Q4 = = @, TiffE HR CARN FUR 9T $FTEe faaT STer g, & 37,800 W 8% e et #r el
1 39 F THalE TS H FT A EEm?

Ans X 1. 324.72
V2 %12.48
X 3.319.46
X 4.329.18

Jduestion ID : 123568372
Status : Answered
Chosen Option: 1

LS

Q5 2 FR@T PA 3T PB argdl fig P ¥ &7 O I v ged W @ 5 T < OAB = 30°, &
2APB FTF #f3w)

Ans « 1. 600
X< 2.120°
X 3 30°
X 4 15°

Question ID : 123568380
Status : Answered
Chosen Option: 1
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Q.6 TrafRa oo &, Bfees sust #7 2015 @ 2019 O 3c9ea (e &) fear e ¥ afeer &
e FY A B 7T 9o # 3ew &)

Y | =mEe | Ag | e | S| Fw

2015|415 | 2500 | 1000 | 975 | 490

2016|520 | 4218 | 1120|825 |520

2017 | 585 | 3482|1250 (700 (610

2018 | 625 | 4500 | 1325|625 | 725

2019 | 600 | 3300 | 1450 (775|840

T a g F T F Seew A TAG A g A o o #r
Ans of 12016

X 22018

X 5. 2017

X 4 2019

Qu stion 7: 123568389
45 : Answered
—“hox Option: 1

Q.7 F=faf@e after &, BAfdes saet &1 2015 ¥ 2019 FF 309 (&t &) Rar == & a7 &
T w7 AT T 7T WA #T 3eaw &

Y | =mEe | g | e | S | FJe

2015|415 | 2500 | 1000 | 975 | 490

2016 | 520 | 4218 | 1120|825 | 520

2017|585 | 3482 | 1250|700 (610

2018 | 625 | 4500 | 1325|625 (725

2019 | 600 | 3300 | 1450|775 | 840

SErdmmsma o FdmmE . W @& HE
Ans - X 1. 780

X 2. 471

X 5. 549

Vv 2 231

Question ID : 123568388
Status : Answered
Chosen Option : 4




Q8 fr (a+b—2)2+(b+c—5%+(c+a—-52=0% a Jb+c)f+(c+a)P —1 & AT AT HiaT|
Ans x .6

NKz2

<39

Vi3

Question ID : 123568378
Status : Answered
Chosen Option : 3

Q.9 F=fafEg oo &, S waet #1 2015 & 2019 TF 39U (&1 #) R@r = & arfewr
I3eTTT FY 3R BT 7T T2 T F 5eW E

¥ | =mEe | A | (S| FEr

2015|415 | 2500 | 1000 | 975 | 490

2016 | 520 |4218| 1120|825 |520

2017|585 | 34821250700 |610

2018 | 625 | 4500 | 1325|625 | 725

2019 | 600 | 3300 | 1450775 | 840

T§ 2015 #r gorT &, 2019 F Faw F 3cqea # fohaw sl #r 3fx g82
(T F & T TF T

ans X 1. 77.77%
v 2.71.43%
X 3. 60.28%
X 4.65.12%

Question ID : 123568386
Status : Answered
Chosen Option : 2

Q10 Ff¥ xcosA—ysinA=1 3" -1 1+ycosA=4 &, & 17x% +17y* FT AT I3
Ans X 1 49

v 2 289

X3

X 20

Question ID : 123568384
Status : Answered
Chosen Option : 2




Q.11 = 957 18% & =7 W = 75| A g 9 HoF T ¥ S, Fr o 25% gl 3§ T W oHA-
AT ¥ 7 Hifew

Ans X 1. 890
X 23570
v 33700
X 4. 650

Question ID : 123568370
Status : Answered

Chosen Option: 3

Q12 gfra+b+c=93Tab+ bec+ ca=-22 & ar a®+ b +c3—3abc F AR 7T Hiw)
Ans - X 1. 783

X 2. 487

X 3. 1571

v 21323

Question ID : 123568376
Status : Answered
Chosen Option : 4

Q13 064n m? s aTelr TE TMeTER BEF 1.408 km F TS T e ¥l b T ST S AT
TR T FE T e

@ &=
Ans X 1.140
v 2280
<3180
X 4360

Question ID : 123568379
Status : Answered
Chosen Option : 2

G4 afy gEEr 87:1.9, 9 ¥ Resw ¥, A 2x F AT AG AT
Ans X 1.n

X2 4

v:8

X a2

Question ID : 123568365
Status : Answered

Chosen Option: 3




U5 ofE v wHag P F &She 36V3 cm? &, A P & o sarw
Ans of 1.36 cm

X 218y3cm

X3 12cm

X 4 36v3cm

Question ID : 123568382
Status : Answered
Chosen Option: 1

U6 afr 37 =27"=81° sk abc=144 § & 12(1++1) & 7= 7= Aol
Ans 18

Question ID : 123568377
Status : Answered
Chosen Option: 1

Q.17 40 cm =W aTer ug & BREr 9 F REare (o v few o oo @ig aas e §1 o
raer o I TAE I TEHAr &2

Ans K 1. 3200
X 2. 6400
v 3. 64,000
X 432,000

Question ID : 123568375
Status : Answered
Chosen Option: 3
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Q.18 fr=fafRa afeer &, Bfees wo=t & 2015 & 2019 7F 3c9ex (a1 ) @ mar & e =
semTe HP 3R Re v wea & seaw &)

ay | =mae| A | I St | Fe

2015|415 | 2500 | 1000 ( 975 | 490

2016 | 520 | 4218 | 1120|825 | 520

2017|585 | 3482 | 1250|700 (610

2018 | 625 | 4500 | 1325|625 | 725

2019 | 600 | 3300 | 1450 (775 | 840
At & & € sEfy & 0 F siww semes (A #) B

Ans o 1 3600

X 23482

< 3.3300

X 4 4218

Qu stion 7: 123568387
45 : Answered
—“hox Option: 1

Q.19 ¢ ZFAEN e ] H HAG F 50 oF T A WA § 2% g A e 5 1 &
ams fRear &1 g ifera Aew 1888 §, & 3W aFg #1 FU-HeT A9 Hiawl

Ans X 1. %895
X 2. 3550
v 3624
X 4 3782

Question ID : 123568368
Status : Answered
Chosen Option: 3

Q20 Zfr (2sind+cosecAd)=2 L <A<90°% & 2(sinA+ cos*4) T AT T
Ans x 1.2

X220

X34

v sz

Question ID : 123568383
Status : Answered
Chosen Option : 4




Q.21 s gt T FAEEIT Tgo a9 H 30% & AR 3eer 99 15% FH g 2| IE FoAT FAEEar 11,050

% ar 2 a¥ gger & SwEE Faar 97
Ans o 1.10,000

< 2. 99,500
~ 399,000
X 410,050

Question ID : 123568369
Status : Not Answered
Chosen Option : --

2 T F g L

sin40° _ cosec50°

— 4co0s50°cosec40°
cos50°9 sec40?
Ans x 1.2
X 21
X3 -
)
Question ID : 123568385
| Status : Answered
l Chosen Option : 4
Q.23 ABC v e &1 P, Q 3K R & o3t AB, [ © 3 °4 5 7w g ¥l ofE Bege ABC

& s A A 8 om B, @ APQR & &Fwa 7T ST

Ans (1. 4\/5(:“12

Question ID : 123568381
Status : Not Answered
Chosen Option : --




0x5)+(84x6)]+5

Q28 afx w o 30 =, = am I, 0 F I e i e a3, A O
I [5+18]-14+21

Ans x1._1
Vo2
X3 1
X2

T AT

Question ID : 123568366
Status : Not Answered
Chosen Option : --

Q.25 v o F 4 kmh T F W T T T F 1.25 6 T §| TR F W FH B IE g7 25% 7
FH TAT & OF F & [0 3§ A9 T F hger 9fgea sger gem?

Ans X1 4BY,
X 2. 25%
v 332%

X 4 50%

Question ID : 123568374
Status : Not Answered

Chosen Option : --

Section : English Comprehension

Q.1 Select the most appropriate ANTONYM of the given wnrc

Persist
Ans x 1. Remain

x 2. Continue
x 3. Insist
,4. Cease

Question ID : 123568407
Status : Answered
Chosen Option : 4

Q.2 Selecttr -o. 2. .direct form of the given sentence.

"What a rare flower!" she said.

Ans x 1. She asked if it was a rare flower.
J 2. She exclaimed that it was a very rare flower.
x 3. She exclaimed what a rare flower it is.

x 4. She told that what a rare flower it was.

Question ID : 123568393
Status : Answered
Chosen Option : 2




Q.3 Select the option that can be used as a one-word substitute for the given group of
words/phrase.

Having two opposing feelings at the same time

Ans X 1. Contemporary
X 2. Coinciding
,S.Ambivalent

x 4. Equivalent

Question ID: 123568411
Status : Answered

Chosen Option: 3

Q.4 Select the correct passive form of the given sentence.

The farmer is ploughing the fields.
Ans J 1. The fields are being ploughed by the farmer.

x 2. The fields are ploughed by the farmer.
x 3. The fields were ploughed by the farmer.

x 4. The fields have been ploughed by the farmer.

Question ID : 123568392
Status : Answered

Chosen Option: 1

Q.5 Identify the segment in the sentence which contains the grami'  ‘ical. or. If there is no
error, select 'No error'

Those who are late they will not be allowed inside the ~la - .or

Ans « 1. they will not be allowed
x 2. Those who are late

x 3. inside the classroom

x 4. No error

Question ID : 123568390
Status : Answered
Chosen Option : 4

Q.6 Selectthe mast >propi.ate option to substitute the underlined segment in the given
sentence.lf = = :no need to substitute it, select No improvement.

We came ba.  2cause we had ran out of money.
Ans J 1. we had run

x 2. we have ran

x 3. we run

x 4. No improvement

Question ID : 123568394
Status : Answered

Chosen Option: 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Hercules

(1) to hold it for Atlas while the latter went looking (2) golden apples. When Atlas
returned, he saw Hercules (3) hard to hold the sky. The weight of the sky (4)
Hercules sweat and groan. Now Atlas did not want to (5) a job as arduous as that!

SubQuestion No : 7
Q.7 Select the most appropriate option to fill in blank 1.

Ans ?( 1. afforded

x' 2. ordered

( 3. offered

x, 4., extended

Question ID: 1235685 ~
Stat ... sw. ed
Chosen Opts . 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the hel:  f the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Har dlr 5

(1) to hold it for Atlas while the latter went looking (2) golden ar. es.\ >~ Atlas
returned, he saw Hercules (3) hard to hold the sky. The weight ¢ "th=s  (4)
Hercules sweat and groan. Now Atlas did not want to (5) ajoba duou =sthat!

SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank 2.

Ans X 1 o
W 2. for
X 3. after
X 4.t

Question ID : 123568398
Status : Answered
Chosen Option : 4
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Q.9
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Hercules

(1) to hold it for Atlas while the latter went looking (2) golden apples. When Atlas
returned, he saw Hercules (3) hard to hold the sky. The weight of the sky (4)
Hercules sweat and groan. Now Atlas did not want to (5) a job as arduous as that!

SubQuestion No : 9
Select the most appropriate option to fill in blank 3.

?( 1. coping
x' 2. seeking
( 3. struggling

x, 4. tackling

Question ID: 123568> 3
Stat ... sw. ed
Chosen Opts . 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the hel:  f the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Har dlr 5

(1) to hold it for Atlas while the latter went looking (2) golden ar. es.\ >~ Atlas
returned, he saw Hercules (3) hard to hold the sky. The weight ¢ "th=s  (4)
Hercules sweat and groan. Now Atlas did not want to (5) ajoba duou =sthat!

SubQuestion No : 10

Q.10 Select the most appropriate option to fill in blank 4.

Ans

x‘ 1. make

( 2. was making
x’ 3. has made

?( 4. were making

Question ID : 123568400
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Hercules

(1) to hold it for Atlas while the latter went looking (2) golden apples. When Atlas
returned, he saw Hercules (3) hard to hold the sky. The weight of the sky (4)
Hercules sweat and groan. Now Atlas did not want to (5) a job as arduous as that!

SubQuestion No : 11
Q.11 Select the most appropriate option to fill in blank 5.

Ans ( 1. take back

x 2. take away
X 3.take in
x 4. take out

Question ID: 1235684 ©
Stat ... sw. ed
Chosen Opti . 3

Q.12 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. The mountain range was covered with snow.

B. Napoleon had to cross the Alps in winter.

C. Napoleon replied that the word 'impossible' did not exist for him.
D. So, someone told Napoleon that the task was impossible.

Ans X 1 ADBC

W 2.8aDC
/< 3.8BDCA
/X 4.0BCA

Question ID : 123568402
Status : Answered
Chosen Option: 3

Q.13 Select the option that can be usea sac >-word substitute for the given group of
words/phrase.

A group of ships

Ans  of 1 fleet
X 2. colony
X 3.swa
X 4.squac

Question ID : 123568410
Status : Answered
Chosen Option: 1




Q.14 Select the most appropriate option to fill in the blank.

She ____ how the magician had performed the rope trick.

Ans x 1. suspected
x 2. bewildered

l 3. wondered
x 4. puzzled

Question ID : 123568415
Status : Answered

Chosen Option: 3

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

When it started raining, | ran to the nearer house for shelter.

Ans J 1. the nearest house
x 2. a near house
x 3.the near house

x 4. No improvement

Question ID : 123568395
Status : Answered

Chosen Option: 1

Q.16 Select the most appropriate ANTONYM of the given word.

Glee

Ans X 1 Fun
X 2.8liss
X 3.0y
W 2. woe

Question ID : 123568406
Status : Answered
Chosen Option : 4

Q.17 Selectthe most 'p,.  ~ 3te meaning of the given idiom.

By and by
Ans x 1.Gi. whole

x 2. By any means

x 3. Suddenly

J 4. Gradually

Question ID : 123568408
Status : Answered
Chosen Option : 4




Q.18 Select the INCORRECTLY spelt word.
Ans  of 1. Acquaintence

x 2. Abandon

x 3. Alliance

x 4. Acquisition

Question ID : 123568413
Status : Answered
Chosen Option: 1

Q.19 Select the most appropriate option to fill in the blank.

The roof of the old building ______ during the storm.
Ans , 1. collapsed

x 2. destroyed
x 3. demolished

x 4., scratched

. =tionlID: 123568414
Status : Answered

“hosen Option: 3

Q.20 Select the most appropriate meaning of the given idiom.

Chicken-hearted
Ans x 1. Generous

< 2.selfish
x 3. Miserly
, 4. Cowardly

Question ID : 123568409
Status : Answered
Chosen Option : 4

Q.21 Selectthe most appropri esy. ym of the given word.

Preferred
Ans X 1. Fearea

x 2.Ado a
x 3. Compured

l 4. Favoured

Question ID : 123568404
Status : Answered
Chosen Option : 4
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Q.22 Identify the segment in the sentence which contains the grammatical error. If there is no
error, select 'No error'

Everyone except she have travelled by air.

Ans x 1. Everyone except

x 2. No error

X 3. travelled by air

( 4. she have

Question ID : 123568391
Status : Answered
Chosen Option : 4

Q.23 Select the wrongly spelt word.
Ans B 1 Grief

Jz.Sieze
x 3. Piece
x 4. Fierce

Question ID : 123568412
Status : Answered
Chosen Option : 2

Q.24 Given below are four jumbled sentences. Out of the given options pick .  one hat gives
their correct order.

A. Much of this war had taken place along the Western Front

B. Both sides had dug in deep and each lost many men ot rn .e gi.und.

C. This front was a line of trenches across which the ttvo -_s: ced each other.
D. Andre Maginot had fought a war with the French ag nsu Jermans.

Ans  of 1 DACE

/< 2.DBCA
X 3.AcDB
X 4.BCDA

Question ID : 123568403
Status : Not Answered
Chosen Option : --

Q.25 Selectthen. . -~ ‘-ropriate synonym of the given word.

Ovation

Ans « 1. Applause LEARN WITH THE MOST
PREDICTED QUESTIONS
x 2. Censure

x 3. Creation CLICK HERE o

s
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x 4, Preparation

Question ID : 123568405
Status : Not Answered

Chosen Option : --
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